A

dwnd uoysid |[eixy NV

AR Series

Dimension(For different control methods)

AR16 /22 01

Filling port )
RCY/16"-18UNF  Drain port G3/8"(RC) P Luck nut
O Luck nut \ MAX195 443 MAX100.5 Flow ad].Screw
DS Flow adj.Screw /68 1 6 4.76% % O
Discharge port an 25 z f INC.
RC3/4"(PT3/4")
<
2-M10x17 deep (0} | 9 X
2
@« ] g t |
& Pressure gauge ® ]
commection
Suction port RC1/2'(PT1/2") H ©
RC1/2(PT1/2)
4-M8x14 deep 2
222 175 10 \
147 @ \InietRC3/4"
S5
172
AR16/22 G
Filling port
RC9/M16"-18UNF .
Drain port MAX151.25 Dl(l;( pr?ssurte
" adjustmen
Remote control G3/8"(RC MAXE6.25 Eéwammgl
G1/4 & PT1/4 \ ning:
Luck nut | MAX195 44, Don't adjust )
uck nu / . —
] '@ = DEC. Flow adj.Screw 88 6 [D- M
Discharge port 25 o3| o5| o5
RC3/4"(PT3/4") 8 3 3 E
2-M10x17 deep - o o o ] 4.?6‘3'“2\,’ ki
ey (=2}
! o S
: = ! L & = '
S(PSZ F@ Pressure gauge ™ [ % 1T T HEe= -} i
.,Cl commection !
Suction port RC1/2'(PT1/2") / 1 ©
RCU2(PT112) [N P’ i
N—" 4MBx14desp / !
22.2 — 17.5 Outlet RC1/2" S .
10 - Inlet RC3/4
147 2,
|§_2.5 32.9 e X
120 172
AR16 / 22HL
Filling plc_)rt Load sensing pressure
RC9/16"-18UNF adjustment
Remote control Drain port MAX151.25
G1/4 & PT1/4 GIB(RC MAX86.25 Hight pressure
\ adjustment
Luck nut MAX195 / A4, L ﬁ
= pec. Flow adj.Screw /88 6 e [D_ /
Discharge port 25 os| o3| o
RC3/4"(PT3/4") 8l 3| 8 _G]P E
2-M10x17Deep : EINER ' 476 | 2
] @ : i @
i 2 . bl i
T O T 1 — e
5 ‘,..9’7 1 @ Pressure gauge 3 T
) @/ commection J I .
Suction part ! RC1/2"(PT1/2") S ©
RC1/2(PT1/2) H :
Ne——] / : N
202 2814 dee 175 1o _Outlet RC1/2" \ )
' 147 = 106 Inlet RC3/4
@,
EE.S 32.5 150 s
120 172

www yeoshehydraulic.com




AR Series

Dimension(For different control methods) YEOSHE

>

Low pressures
\ 267.8 44.5 h
O Drain port RC3/8" (PT3/8") — adiskment
DEC. o — MAXE9.9 ;
) Filling port RC9/16"-18UNF High pressure
Low flow adjustment / adjustment
Y 686 / >
High flow adjustment | 2 o g & O m
e K 25 olgi oj}' DE NG ?
i ': E N g 4 ?Sf-g_ofo X
@ . + = | slelel & o
N == ry 3l = —
e | — T,
&
Outlet | ] | ) o 9!-
PT1/2"-14/ — (@]
3
y 4-M8x16 de Outlet 2
c 17,5 _L..ﬂ PT1/2"-14 ' k%\ Iolet . -, o)
) - 106 =
124 18;4? (4-M8x16 ) o (4-M10x20 ) g
©
AR16 /22 CG
267.8 44,5 Drain port RC MAX.154,9 Low pressures
o 3/8" (PT3/8") MAX 89,9 adjustment
Filling port  — /— High pressure
DEC. RC9/16"-18UNF Romote pressure port : adjustment
Low flow adjustment ® / PT1/4 Warning:
Don't adjust
High flow adjustment -\ S ) 58/ 6 | __nr . /@ (J)
|
\ ® 1| | 2 3.3 ..
e = e o 4,762
o = * g é g r~ ©
8 - o]_ M [ ~ @
~ D) rry -
wof gy i —
H - - s - —
Outlet 7 | ©
PT1/214 /=

Outlet
a-Mext6 deep /| | [ 0 Qutiet —— et
' 147 (4-M8x16) 106 e, \__PT3/4"14

& .
= a0 (4-M10x20 )

AR16/22 CR

Solenoid control valves

OFF :Low tension unloadin Filli ort RC9/16"-18UNF MAX 1549 LU?” pressures
ON:2-stage pressure - BEE— adjustment
& flow control Drain port RC3/8" (PT3/8") .89.9 High pressure
/ -
O 267.8 44.5 adjustment
——
DEC. o] A
Low Flow adjustment ﬁ O
{ 1 High flow o Jes |6 1 ) »
[] adjustment g 2 8
~AClusmen, 0O} o i
[ts] i o uf +0.03
o 0 — & @ &
O) ™ E ad — S| S| P~
[ 1 P
'%T =0 o =
s I . . e
«© O ld
Outlet | 4 1 L 2
PT1/2"-14/
T 4-M8x16 deep / Outlet
> - PIlz-14 &, \ Irr’]Tlestm" 14
124 147 ( 4-M8x16 ) - (4-M10x_20)
185

Copyright@2022-YEOSHE-ALL RIGHT RESERVED.



A

dwnd uoysid |eiIxy MY

AR Series

Dimension(For different control methods)

AR16 /22D

AR16/22 DG

AR16/22 E

276.5

Low pressures

. ! MAX154,9 ,
SQIOEonD| FRees Drain port RC3/8" (PT3/8") MAX 89,9 adjustment
Filling port RC9/16"-18UNF — High pressure
O | / adjustment
B8 5]
Olll® e 2 O
Flow adjustment @ 28  oolec|es i
| = Wy INC.
“BE 216
= slelel ~ 8
o -
(T3]
— \d -
I o 1
] N —
7 v dhd
Quilet 1 L 2
pri2-14 /A &
Outlet
4-M8x16 deep 17,5 _L 10 PT1/2"-14 ' \q%\ Iniet 14
™ 106
18;4? (A4:MB1S ) o= (4-M10x20 )
MAK 1510 Low pressures
Solenoid control valves 2765 45 — adjustment
Filing port — — Drain port RC3/8" (PT3/8")  MAX.89.9 | High pressure
RC9/16"-18UNF Romote pressure port : adjustment
O | PT1/4" Warning:
Q: O @ 77 Don't adjust
DEC. ]
Flow adjustment @ —EE £ O
E
8 @ | 25| og =g og INC.
oo, el ) ] +0.03
o 0 \ o o o 4760 §
& 2 = ¥ 1 sfelsl
B ry =
%T gl i 1 : |
] ’? ! T
Outlet S
PT1/2"-14/ 7+—
Outlet AN
semew/] o — s B/ || SO N
4-MBx16 106 -
147 (4-M8x16) 120 (4-M10x20 )
185
L
Solenoid control valves 212 4.5 MAX:#T;; :j\.ﬁg{:‘s:;res
Drain port RC3/8" (PT3/8" MAREST .
\  Filing port RC9/16"-18UNF - rain po ( ) Figh pressure
O adjustment
. B8 5]
= aloflleh| | { Q
Flow adjustment 250 od]od|es i
ow adjustmen e Lg ja; ‘LEI MG
N 4760"
3 — = | slel el ~
e i =
-Tresl N +— 1
Bl L/ N
Outlet /S 3
PT1/214 /AR - - ~
4-M8x16 deep / 175 __I_ 10 E%ﬁ'?‘"d 4 I \ Inlet
' 147 (4-M8x16 ) 106 PR
185 130 ( )

www yeoshehydraulic.com




AR Series

Dimension(For different control methods) YEOSHE

>

()

. 276,5 445 INC.
Solenoid control valves MAX154.9 Low pressures
- " ) . . MAX89.9 adjustment
Filling port RCY/16"-18UNF Drain port RC3/8" (PT3/8") High pressure
Romote pressure port : adjustment
Q: O o / ET1/ / Waming: %E
DEC. D 't adjust
Flow adjustment o 88/, 6 . o Pontadus
O | 25 o$|o$ fl ?
v Te] uy —
5 \E =EE g )
SR . slelel ~ (& | . o
[Ty] = & — - h m
ST T T R A—T )
Outlet : oy © -]
PT1/2"14 /| — ; h o
Outlet
4-M8x16 deep / 75 __L 10 o nend N\ Inlet c
' 147 (4-M8x16 ) \ﬁ& PT3/4"-14 3
— P (4-N10x20 ) S
AR16/22 F
267.8 44,5 Low pressures
MAX154.9 adjustment
Solenoid control valves Drain port RC3/8" (PT3/8") MAX89.9 -
—— Filling port RC9/16"-18UNF /__ H'Qh pressure
Low flow adjustment %
High flow adjustment E O & | s e O
H s (=] s = N
O &L, 2l e a e
—] E ik B 4 ?6+8.03
o DEC. ¢ | b I ~
® Lo | | =
A1 H - = L —t
bl A o
Outlet . ©
PT1/2"-14 2 ¥ ~
/ N
4-M8x16 deep 175 1| 10 g‘lqtllfezt"-m T E‘ll%tf s
' 4-M8x16 106 o 1304 -14
147 (4-Mx16 ) A & T (4M10x20)
185
AR16/22 FG
267.8 44,5 MAX154.9 Low pressures

adjustment
igh pressure
adjustment

Filling port RC9/16"-18UNF Drain port RC3/8" (PT3/8")
V' Romote pressure port ¢
/ PT1/4"

Solenoid control valves

[ Low flow adjustment [ Warning:
High flow adjustment 68/ 5 Don't adjust
O
O ‘ 25 ogleg)og)
DEC. m' — u‘_|| “!‘1 E INC.
5 5 E| S $| N
A hd — | o 8 = "
%]_ :%]‘: =
- Fany .
A - HE=- :
Outlet ot |
pT1/2-14,/ Al | ————1
4-M8x16 deep/ 175 i 10 ¥ E_}_eatw_ )
147 & T (4M10x20 )
185

Copyright@2022-YEOSHE-ALL RIGHT RESERVED.



AR Series

Dimension(For different control methods)

AR16 /22 GM

MAX195 44. - NGB
Filling port 00 +
RC9/16"-18UNF b
Drain port 00 ¢+ + Diff pressure
Luck nut G3/8"(RC) adjustment
j;E O . 68 /S (®Waming:
) DEC. Flow adj.Screw o Don't adjust )
—3 _ Discharge port o 25 <les|es|l | Bemmoo
? RC3/4"(PT3/4") 3| 3| 8
— 2-M10x17 deep, a| = o
n_) Q . bl ] N
H o -
1 )| & -
=, D-4 ]_;]__{ J--- Bl 1
w =i Pressure gauge o —
(=g ) :ﬁl commection i
o Suction port I RC1/2"(PT1/2") = 2
-} RC12(PT12) [N | | |_v
\ 1 "
O 22.2 | A MBx14 deep 175 10 out "
c LI Inlet RC3/4"
3 32,432.5 147 o
5
© 120 172
AR16 /22 GJ
MAX 195
443 Filling port 210
RC39/16"-18UNF
Drain port
G3/8" pé)c Diff pressure
Luck nut O /’_(_}_ adjustment
L | e |
pec. Flow adj.Scn o e {@Warning:
4 _Discharge port ] © 23, | o5 == 2 Don't adjust )
RC3/4"(PT3/4") I o
2-M10x17 deep o ~| o 4.76'8 %,
) - & ow r‘r-: o
B ° -
I = —] M
S Pressure gauge 3 N
) ]{ commection ? | ©
ggﬁoz?Ppﬂ}Z) 9 RC12'(PT12") £ = 2
A 4P_/
A N
4-M8x14 d
22.2 A 175 10 _Outlet RC1/2" 106 N\ S
147 @ e
32.532 5 130 N
120 172
AR16 /22 GR
Drain port
G3/8"(RC)
MAX195 JII 4.
Filling port
RC9/16"-18UNF
O Diff pressure
|_‘ O Luck nut Q adjustment
E B: Flow adj. I
" 68 6
h DEC. Screw b\ e {@Warning:
h] Discharge port & 250, || = o Don't adjust )
] RC3/4"(PT3/4") A a3 8 s
2-M10x17 deep | o I et
: i EEN
A ? ®
g A LA %___.L’ JR V1= ) e
- L) AN 1) Pressure gauge
X :ﬁ_ commection
Suction port H RC1/2'(PT1/2") .~
RC1/2(PT1/2) N ! /
LR ' e 125 10 _Outiet RG/Z" N\ Inlet RC3/4"
147 2
32 532. 130 N
120 172

www yeoshehydraulic.com




AR Series

Dimension(For different control methods) YEOSHE

Drain port
G3/8"(RC)
Mmaxigs [ _aas.

>

Filling port
RC9/16"-18UNF

AN O )
D Luck nut lef pressure >
— adjustment
Flowad. @ J 68 6 Eﬂ:ﬂ [ A
DEC. Screw e e - - {@Warning:
] g\ 25|, o |eg| e o Don't adjust ) E
| g 8| J B o =.
2M1017 deep Al (6 i ol & &l 2
3 8 —foo \ T,
F A | 4 = p— ; a
S 2 s Pressure gauge “4 T —
_icl_ commection (@]
Suction part RC1/2'(PT1/2") M p————t 5
RCU2(PT12) [N / F
vy ©
22 9 4Mox14 geep 175 10 Outlet RC1/2" Inlet RC3/4® [
| 106 N\ Inlef

32 5132 5 4 130 % 'g

120 172 '

AR16/22 GC

Drain port
G3/8"(RC)
MAX195 | 44.
Filling port
RC9/16"-18UNF Diff pressure
adjustment
|_| |_| Luck nut O |_| l_l / !
I:H:E B:BJ (7 Flow adj. o - 6 F {@Warning:
) DEC Screw i Don't adjust )
d | _Discharge port 3\ 25 C;-I’ ='$ D"gl’ g o
RC3/4"(PT3/4") / 3l & B 2 -
2-M10x17 dee o ol o o - Bk
L 3 A N h N 4.76%4 %
N By | A % | | | B ]
= Z L/ Pressure gauge 1T
) "*})C:)L commection \é | °
Suction port RCU2'(PT1/2Y) H——————— 1 ©
RC12(PT112) [N ) P [
4-MBx 14 dee ‘

259 | 175 10 QOutlet RC1/2" \ Inlet RC3/4"
147 ' 106
32.432.5

@
130 %

120 172

AR16 /22 LN

Filling port Drain Port
RCYM6"-18UNF RC3/8" (PT3/8")
Luck nut \ MAX 195 / 44 5
X 68 <]
pec. Flow Adj. Screw
- 2 9 8
Discharge port cucﬁi cf'lr cu?)
RC3/4"(PT3/4") o N W
2-M10x17deep o) [ I:!: g 8 % 5
2 ™~ -
= i = - o i
& 4 /
5 44D . 3 o= -
=+ L ) Pressure gauge A
: commection @
Suclion part RC1/2'(PT1/2") / I o
RC1/2(PT1/2)
N 4-MBx14 deep =
2221 | = 10 Outlet RC1/. N Inlet RC3/4"
147
32.9 32.9
120 172

Copyright@2022-YEOSHE-ALL RIGHT RESERVED.



A

dwnd uoysid |eiIxy MY

AR Series

Dimension(For different control methods)

AR16/22LC

Fillin rt Drai

RC9/16"-18UNF R

rain rt
G318 (PTa/8"

Luck nut

O Luck nut . _\__MAX1955 / 445 Pressure adj. screw
Flow adj. Sc%q /68 | 6
DEC.
23 e
Discharge port i
2-M10x17 deep ' RC34(PT3/4T)
]
T 0 o0
S PR |- -
oo
Suction port 1 9
RC‘I!Z(PT‘;J;)z N - [ h
s 10 Qutlet RC 1/2" .
T Inlet RC 3/
o cho [ 147 (4-MBx14) \_Inlet RC 3/4"
120 172 ]
Flange side I i 1
P:PT1/2" |
" 48 x P1.25
+ Theard x 14 Deep\ ]
| F5q4[SIC|'ew distanmla.Theaﬂ
AR Splined Shaft
Luck nut
Filling port Drain port sl
{CQHS"“ISUNF / e G:16/32 DP-13T MAX165.5 Flow adj. Screw
X MAX195 41 : - .
Luck nut T16/32DP-9T MAX100.5
DEC. Flow adj. Screw -t 68 8 O
Discharge port CE. 7 INC.
RC3/4"(PT3/4") 0
] B .
2-M10x17Dee, ) 1 LJ: ® o =
3 ' | N =
w 1 ] L4
N ESI— -1 ] ]
= Pressure gauge o 1
commection i ©
Suction port RC1/2"(PT1/2") T ™~
RC1/2(PT1/2) / 23
4-MBx14 deep 175 | 35
22.2 | ~o  Outlet RC1/2 Nl e i
147 q%\
172
AR Thru drive
o Drain port
Filling port e .
RCO/16"-18UNF RC3/8" (PT3/8") MAX165.5
185,5 44,5 MAX.100.5 Flow adj. Screw
. /68 6 476 9% /
e e ING.
+ cg cg c§ .
o —| ™ -
g % 8 r‘r-: A
8 n X3
- s M
Tl = ;
dhid
Outlet - -
RC 1/2" /
k-msms deep 7.5 10 (3“":;8R1%1)’2" Inlet RC 3/4"
147 - bibx
2-M10xP1.5x 16deep (4-M10x20)

www yeoshehydraulic.com




Stock Status Table YEOSHE

Rotation Direction of pipe connection Tread Status | External Dimension
Rear Ports 10:PT o AR16/22 RN10
None Flange for inlet 40:G E AR16/22 RN40
Thread for outlet 50:NPT A
Side ports 10:PT ° AR16/22 RS10
R S Thread for inlet 40:G o AR16/22 RS40
Eibckwiss Thread for outlet 50:NPT A
Side ports 10:PT ° AR16/22 RF10
F Thread for inlet 40:G A
(It can conntl-):tlz’i1 n\.n\.rgllt(-f; Imgm?&% fbolz)gﬂ,tlgtt)mpact type) 50:NPT A
Side ports 10:PT o AR16/22 RH10
H Flange for inlet 40:G ° AR16/22 RH40
Flange for outlet 50:NPT A
Rearkors 10:PT | e | AR16/22LN10
None Flange for inlet
Thread for outlet S0:NPT | A
Side ports 10:PT A
couhter S Thread for inlet 40:G A
. Thread for outlet 50:NPT A
clockwise :
Side ports 10:PT A
F Thread for inlet 40:G A
(It can cf:;nn('e:rlzf1 n\I'\.r{.i;ttli Imgr:ri?glg ft?l:)g'll(Jt Igfgmpact type) 50:NPT A
Side ports 10:PT A
H Flange for inlet 40:G A
Flange for outlet 50:NPT A
e There is stock, it can delivery fast.
/ANot standard, please check it with YOESHE for available and lead time.

Copyright@2022-YEOSHE-ALL RIGHT RESERVED.

dwnd uoysid |eixy MY ﬂ



External Dimension
(Different Rotation / Direction of pipe connection / Thread )

A

Rotation: Clockwise, Rear ports , pipe connection type 10: PT Thread 202
p pip P s
> ) Y
Py ||
g ||
T a
w
o 172
- ()
2 INC. DEC. Filling Port
3 Pressure Adj. Screw Flow Adj. Screw 9/16"-18UNF
S
Drain Port
RC3/8" (PT3/8")
Inlet :PT 3/4" o
(With Flange) = N :
o
Eressure Gauge J
. " onnection
RN40
(Rotation: Clockwise, Rear ports , pipe connection type 40: G Thread) .
68
2|
Q 9
INC. DEC. Filling Port
Pressure Adj. Screw Flow Adj. Screw 9/16"-18UNF
Drain Port
RC3/8" (PT3/8")
Inlet:G 3/4"
(With Flange) 00 :
(-]
Pressure Gauge
. ., Commection
Outlet:G 3/4 bl .

www yeoshehydraulic.com



AR Series

External Dimension YEDEHE

(Different Rotation / Direction of pipe connection / Thread )

(Rotation: Clockwise, Side ports , pipe connection type 10: PT Thread)

>

>
Py
O O Filling Port E
9/16"-18UNF =.
INC. DEC. o
Pressure Adj. Screw Flow Adj. Screw Drain Port o,
RC3/8" (PT3/8") w
—
68 o
-}
o
— -
! 3
S
o ==
_ i+ — s
o
) 7 1
Outlet:PT 1/2"
147
Inlet:PT 3/4" Pressure Gauge 172
Commection f
RC1/2" (PT1/2") RC3/4" (PT3/4")

RS40
(Rotation: Clockwise, Side ports , pipe connection type 40: G Thread)

RH40-1005
(Rotation: Clockwise, Side ports, pipe connection type: flange (excluding flange))

Filling Port
O 9/16"-18UNF

DEC.

ING: Flow Adj. Screw Drain Port
Pressure Adj. Screw RC3/8" (PT3/8")
68
Pressure Gauge
Commection —
G3/4" !
oo ||
— ) I _:_
(-]
i ﬁ 1
147
Inlet:G 3/4" Qutlet:G 1/2 17
Flange installation interface: SAE J518(Code 61) 3/4" Flange instaTlal-icn interface: SAE J5‘|E(-Cc:de 61) 12"
Faur hales A Faur hales ' f
Fan i i
G —_ T T o G1/2" ¢—¢—
= ¥ PN
(=] (=]
: 1@ ‘2 : :4-M8 P1.25 \(—‘f/j 'ﬂ '
4-M10 x P1.5 — s L N\ ©
Depth of thread x 18mmi~__ | N Depth of thread x 14mm 0O b
F506(distance betweer‘f’ h 2.2 +0.02 F504(distance between 17.5£0.2
screws, Thread) screws, Thread)

" Copyright@2022-YEOSHE-ALL RIGHT RESERVED.




A

dwnd uoysid |eiIxy MY

AR Series

External Dimension
(Different Rotation / Direction of pipe connection / Thread )

(Rotation: Clockwise, Side ports , C type pipe connection type: flange 10: PT Thread)
Only C, CR, D, E, F control options are available: Counterclockwise are not available

Differential pressure
Adj. screw

()

INC.
Maximum pressure
Adj. screw

l';Q#J?O
-

FI

Inlet:PT 3/4"

Flange installafion interface:SAE J518{Code 61) 347
Four holes ! |

PT3/4" _¢' B

ﬁ

47.6 +0.0.

4-M10 x P1.5
Depth of thread x20mn}

/

_\
Fa
T

[
[
"+
=
2

N
F506(distance between
screws___Tr_1 read)

www yeoshehydraulic.com

DEC. Small flow Adj.

Larg flow Adj-

Outlet
PT 1/2"

62 62

Filling Port

68

./

Flange installation interface:SAE J518(Code 1) 1/2
Four holes

PT1I2“—<‘¢;_—)¢—'

|

4-M8 x P1.25 .+, I
DO

38.1+0.2

Depth of thread x 16m

F504(distance between 17.5 0.2

screws, Thread)

9/16"-18UNF

Drain Port
RC3/8" (PT3/8")



YEOSHE

External Dimension
(Different Rotation / Direction of pipe connection / Thread )

(Rotation: Clockwise, Side ports , pipe connection type: flange 10: PT Thread)

Filling Port
O O 9/16™18UNF
INC. DFC' Drain Port
Pressure Adj. Screw Flow Adj. Screw RC3/8" (PT3/8")
68
Outlet:PT 1/2"
(With Flange)
147
Inlet:PT 3/4" k
(With Flange) Pressure Gauge 172
175 Connection '
RC3/4" (PT3/4")
RH40
(Rotation: Clockwise, Side ports, pipe connection type: flange 40: G Thread)
Filling Port
O O 9/16"-18UNF
INC. DE-C‘ Drain Port
Pressure Adj Screw Flow Ad] Screw RC3/8" (PTS:’B")
68
- - — R
QOutlet:
G 1/2"
(With Flange) 147
Inlet:G 3/4" 90 8 N\
(With Flange) Pressure Gauge 172
175 Commection '

G3/4"

Copyright@2022-YEOSHE-ALL RIGHT RESERVED.

>

dwnd uoysid |eixy MY



External Dimension
(Different Rotation / Direction of pipe connection / Thread )

(Rotation: clockwise / Side Ports / Pipe connection type: inlet with flange10: PT thread /
Outlet: flange installation: SAE J518 (code 61)1/2")

A

Filling Port
O 9/16"-18UNF
DEC.
INC. . Drain Port
Pressure Adj. Screw Flow Adj. Screw RC3/8" (PT3/8")

68

dwnd uoysid |eiIxy MY

Pressure Gauge
Connection

RC3/4" (PT3/4") 147
172

Inlet:PT 3/4"

RC1/2" (PT1/2") Outlet:PT 1/2"

Flange installation interface:SAE J518(Code 61) 1/27
Four holes

PT1/2" —¢—$7-

] o~
- D
*4-M8 x P1.25 e '
Depth of thread x 14mm wrN
NN
17.5 £0.2

F504{distance between screws, Thread)

www yeoshehydraulic.com



External Dimension

YEOSHE

(Different Rotation / Direction of pipe connection / Thread )

>

(Counter Clockwise Rear Ports10:PT)
202

68

i []

R

172
Filling Port
9/16"-18UNF
Drain Port
RC3/8" (PT3/8")
. 0.0
' o
147

()

DEC.

()

INC.
Pressure Adj. Screw

dwnd uoysid |eixy MY

Flow Adj. Screw

Pressure Gauge
Connection

RC1/2" (PT1/2")

Inlet:PT 3/4"
(With Flange)

31.5 31,5\— Outlet:PT 3/4"

60

Copyright@2022-YEOSHE-ALL RIGHT RESERVED.



	組合 1_compressed_page-0009
	組合 1_compressed_page-0010
	組合 1_compressed_page-0011
	組合 1_compressed_page-0012
	組合 1_compressed_page-0013
	組合 1_compressed_page-0014
	組合 1_compressed_page-0015
	組合 1_compressed_page-0016
	組合 1_compressed_page-0017
	組合 1_compressed_page-0018
	組合 1_compressed_page-0019
	組合 1_compressed_page-0020
	組合 1_compressed_page-0021
	組合 1_compressed_page-0022

